EARCCI00 TR A > RIEITHR

P-1

202564 T7H T7H (H)
B S i PN = kb OUT Kk ok k % %k %k % ko ok ok ok ok
iﬁggéﬁ: e ne DPEOHEDE DOEBOEBHO®
S HDCP ERR (%) 1 18.0 HDCPLFR (%)@ 18.0
(g 7 | K 4 OUT ' IN GROSS| HDCP | NET 1t = e 7| 4 wr oI GROSS| HDCP | NET i =
w B aR BT 44 44 | 9.6 | 34.4 | FEWE 4107 | BT 2 60 60 | 18.0 | 42.0
HEMRDS | SR THRE 45 45 | 9.6 | 35.4| HEMERE 4207 | Va1 B2 63 63 |18.0 | 45.0
3N | #R)I HEE 45 45 | 9.6 | 35.4| 3T 4307 | =R BT 63 : 63 |18.0 | 45.0/ BB
M| s X 45 45 | 9.6 | 35.4 407 | BRI R 65 65 | 18.0 | 47.0| BM
BERIVA R NS R I 4 44 | 8.4 35.6) 5pr :
60| JHigE b 43 43 | 7.2 35.8
WL | K 48 48 112.0 | 36.0| 7z
8| A V] 47 47 110.8 | 36.2
IR /N o | 46 46 | 9.6 | 36.4
CLofL) EAY EEM 81 51 |14.4 | 36.6) ®
LA | Bk & 45 45 | 8.4 | 36.6
12| RAMR ~ VU A 44 44 | 7.2 | 36.8
137 HP R 43 43 | 6.0 37.0
4L | IR AL7 43 43 | 6.0 37.0
R CIA N S S I 49 49 |12.0 | 37.0 FRE
1607 | #&fE E T 48 48 110.8 | 37.2
1747 Al EXC 53 53 | 15.6 | 37.4
18| %fF Bt 47 47 | 9.6 | 37.4
1907 | afs Rl 51 51 [13.2 | 37.8
20fhr) ey HEF | o 45 | 7.2 37.8| RE
2147 | k) R 50 50 [12.0 | 38.0
227 | BEER B 49 49 110.8 | 38.2
230 | i IEsL 42 42 | 3.6 | 38.4
2400 | AR Bl 39 39 | 0.0 39.0| BG
250 EMs W r 5L o 51 |12.0 | 39.0) RE
2607 JHHE B 51 51 |12.0 | 39.0
27/ | Kvi HE= © B0 50 |10.8 | 39.2
280 | [MH EA 44 44 | 4.8 39.2
29| HHE  BiF 54 54 |14.4 | 39.6
BV N Y AN TR § U S 41 | 1.2| 39.8 #mE
S| AR 47 47 | 7.2 39.8
320 | WA F— 46 46 | 6.0 | 40.0
3L | FH  IE 58 58 |18.0 | 40.0
340z | vE)Il =ETE 50 50 | 9.6 | 40.4
O 36fL) KK k| 5 . 55 |14.4 | 40.6| fRE
36z HE  HKFE] 53 53 |12.0 | 41.0
3TNhL | %Rk = 53 53 112.0 | 41.0
38Mr | THH  FET 51 51 | 9.6 | 41.4
3907 | S HESL 55 55 |13.2 | 41.8
L 4007 | O fh 55 55 |13.2 | 41.8| RE

ERRT b U —{BEEER




